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B SLA() ] Mg(x) ], gLf(x) ] ale(x) ], Mo 2y A

(A)fTf(x)] (B)fMe(x)]
(C)glf(x)] (D)glg(x)]
[#%®]D

[ #B47) & &P R AR SUMA F(x) =- F(-x) 6958, Bk
FAN A F B ATEA MM QU ], # - 2 RARAA-2)],
: f(x) HAmEA, - f(-x) = f(x) ~f(-2)] = ffx],ARE
;2 g(x) ], 4 —x RAR fg(-2)], g(x) HHRK,. . fMle(-
x)] =f1-g(x)] = flg(x)],B REH;Bglf(2) ], ¥ - x KA,
glf(-x)] = glf(x)],. C REM;@Dglg(-x)], ¥ - x RAH,
gle(-2)] =gl -g(x)] =-gla(x) ], HRAFBHEGESL,. . D EH.
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[MB47] & f(2) = sin(2x + 2*)," f( - x) = sin(2® - 22) @
sin(2® = 2x) # sin(2x + 2°) ,sin(2* - 2x) % sin(a* +2x) ,BF f(—=x)
# f(x) f( - x) #-f(x). . FRAEFEMRL . C EH
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1 1zl <1
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10 bl > 1

glf(x)].
[fR47) X2 R Feha i AACBRBEFHRELRE &M
Z [ &9 % A&.
“lgla) =1 |, %
Bx<08, | glx) !l <1,/lg(x)] =1
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Hx>08, 1 g(x) | >1,/Tglx)] =-1
1 x <0
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-1 >0
e,l zl <1
glf(=)] = {l.lxl = 1.

e, xzl >1
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(Df(x) = (Vx)?,8(x) = Vo3
(2)f(x) = V1 = cos'x,g(x) = sinx;
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(3)f(x) = lg(x + /o = 1) ,g(x) ==-lglzx - /& - 1);

(4)f(x) =32 +2x - 1,g(1) = 32 +2¢ - 1.

[ MR4T) o0 2 o 69 24 % oL B SUIR AT B vk 0], B ok, 5] B
FA R R FAAF , RBE T AN GG R SUMA ot A .

(1)f(z) BEALRA[O, +0),8(x) HEXRR(-o,+),
BmERIE, ¥ f(x) 5 g(x) R4BE;

(2)f(x) 5 g(x) HRELRAMAE (-0, +o),42f(x) =] sinxl,
g(x) = sinx, A EEMNALME, ¥ f(x) 5 g(x) F4AF);

(3)f(x) 5 g(x) #RSUBAAE[1, + ), BH

lg—l—=lg x-t-\/x!—l
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do flx) B g(x) e9xF xR LAE, ¥ f(x) 5 g(x) A8 R ;

(4) B&f(x) Hg(x) HESNRRETRARAGHHS, XEL
WA B kR ASAR R, B f(x) 5 g(x) fTF—FH

[ZBLHR) % Kk * *

[ B ] B o(x) , P(x) Bof(x) HBIR AP RE, Hp(x) <f(x)
< &(x),iEH:plp(x)] < fIf(x)] < [ D(x)].

[iERE] BF o(x) ,P(x) f(x) HRRPFIYRE, BA

p(x) < f(x) < &(x)
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(1)f(x) =1 sinx| + [tan =,

(2)g(x) = sinx + cos ==

2 H
(3)h(x) = sin({x)".
[RRAT] (1) 74 ) 90 8 B 86 Ao A0 7R 2 ) 0 i 8, BOR T35
AW R B AN (B R MR T A A RA) | sin |

WRAMT, = m, [tan 2= 697 T, = 2m, TG FAMEHh 2m, 3
S(x) VA 2m o B Mo ) ) o
()a(x) $HRFORBIAAT, = 20,7, = 4,70 = T %

W, ¥ og(x) AN B,

(3) iR e E LMD B A TR, % veD, W] x + TeD, A
fx +nTeD, # D bR ELEFXL TR, M h(x) HELKA[0,
+0e ) TR, ¥ h(x) RA RN &
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(2) x¢(1.5,3),

1§ 1 | I -
01152 345 6 x

(3) xe( - ,1];

-5 -4 -3 -2 -1 0
(4) xe[1, + o );
L
~1
(5)1xl <1;
B -1<x<1,ze{-1,1)
TN
-t 0 1
Bl -1 <x <1 xe(-1,1)
(6)0 <l x-al <8(8>0)
Bl -8+a<x<é+a

Y

-

ze(-8 +a,a +8).

:;l-6 1 gt

LM () lx+1t<2
' -l<cx+1 <2
-2 <z <1;
(2Y1 1 +2x1 <3
-3=1+22<3
-4 =x2x2 .
-2=x=x1;
3 15-L1<1
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-6 <—L <-4
X
s<L s
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-é—<x<%;
(4)2* -4x +3 >0
{(x=-3)(x~-1) >0

x-3>0Hx-13>0 x >3

=, : e (%
x~-3<0H2x-1<0 x <1

2x —- 1

(5) +2<1

2x +4 - 5 2(x +2) =5

x+2 <l M 2 +2 <l

. 5 __3 _ 2

S22 x+2<1 | x+2< 1 pr+2>1

Wy b2 >0B8x>-20 S>x+2 x<3

C-2<x <3 Y x4+2<0flx<c-28

S<x+2 x>3 XEKFE . -2 <x <3
(6)0 < (x-2)" <4

(x-2)2>0 ~x-2>0Hx-2<0

x> 2EEx < 2@

w(x-2)"g4 -2<€x-2%2

0<s2»<4Q D.QA/HTR

0=z <282 <x<4
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a | al
T>0 b < {} D&t
a al__a & __a
b<0 5 5 bl <0 5 b
s, C %,
M2
R (Dy =4t
y = 47
A2 =0 o BMIERK0, +»)
. ye[oy + @ :I ﬁﬁﬁ[of + = );
1
(2))’=?

SEBREHE,x ~0,. EXBN(- =,0) U (0, + o)
{EIRAFH (- ©,0) U (0, + o );
(3)y = arctan | z|

HR=ZFRE ve( - o, + o) BLIRHN(-w, + =)
vzl >0, ye[(],“g-) ﬁiﬁﬁ[o,%);

(4)y ="
BT, -2 >0 ~x <]

s EXBAR(-w,1) {HBR(- o, + ®);
(5) y-= cos(x + 1)

=R

—w <x+]1 <+ xe(-w, + o)

EXBA(-w, +o) {HEPR[-1,1];
(6)y =l xl «

IR e —w, +®),
x> OERE(- =, +w);
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(1) y = {e’,x =20
0 <0
v My £ =1,
SO~ =, + o) {HER[1, +») U 10}
g (1) ABRF—REK
Y < 0 B3R RLA R
(2) RFEARFE—ER, Y« < 08 f(x) FENL, M g(x) TBREX;
(3) AF/RA— R
Yax <08 Ax) BEXL,Te(x) BREN:
(4) A [E— R
Wy = 0B f(x) AEX, T g(x) BEX

.M (1)f(0) = yT+0 =1

f1) = /1417 =42
fla) = V1+d = Va +1
fl-a) = /T+(1-0a) = /1+1-20+d
=V —2a+2;
(2) f(x) = sim,sﬁf(l +h) ,f“ +hi =AU

f1 +h) =sin(l +4)

2sa'irt—}Lw:o.«:il'?—j-—g

fA+h) —f1) _ sin(l +A) -sinl _ 2 2

h - h B h i
i-:._!'. 2331

(3) f(=) ={ A RA-1) A1) ,f0) f(3)
1, x <1
Wy =-10 =<1, S f(-1) =1

1* -1

a=10f(1) ==5— =0
Yax =00 x<l,.'.'.f(0) = 1
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Wx =3B x> f(3)—T.-4
22, |l x 1 =
(4)f(x)"{x+1 |zt > 1
1L A
22, -1 €£x <!
f(x)_{x +1l,x<-18=x>1
E3Ylig

Yx =00 f(x) =1 -2x =1
W =10x) =1-22 =-1

WMo =158 Ax) =4 +1 =15 +1=2,25+1 =3.25

L =1+kHf

FE-1lsl+iksl B} -2=k<sON

Fflx) =1 -2(1 +k) =—1-2k
FEl+h<-12H1+k>180k >038%k
f(x) = (1 +E) +1 =& +2k +2
4. 8 Y=< 120m

Bk =, B#Kc=0015-2l

il

< -2 #f

. BEMy = 2l +0.01521 = 1.015x (x < 120m’)

WMy > 120m®
BEk = 2l B8 e =120+1+0.015 + (x — 120)
L BBy =l + 1.8+ (x - 120) - [-0.03,

I3

+1-0.03

LR (DER RN cosxl =1, Hze(-», +»);
(2) TR, % xe(0,7) B,y = tan, AEXFHMESR;

(3) BH, H Y xe{ - oo, + ) Bf | aretanx| <

T
el

E|] arcmn.xe( - 272
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(4) ﬁﬁ-.ﬁjb% x[ -1,1] B, | arcsinx | =< %

BP arcsinxel — %,%] ;

(5) B BN (0,11 B, - < —— <1 Bye[ - 5115

(6) T, BN BET - 1 MABP,y = ;- RATFEME
#;
(7) AR EAL (0, + =) W, | sin 1 < 1;

(8) B, % xe(0, +®) y =In" ye(-w, +=).
28 (1)y=2x+1
e, > 2,y =f(x) =25 +1
flx) ~flx,) =22, +1 2% -1 =2(x, = x,)
x>y O f(my) ~fx) =2(x ~x,) >0
~oy B
(2)y =2
B >, By =flx) =2
Axy) =f(%) =27 ~27 =27(27% - 1)
%xe( - o, +o0) 1,27 >0,
- P
2T o ]
Bp 2% -1 >0
o f(x) - flz) = 2127 = 1) >0
ooy BTN ;
(3)y=¢€"
W, > 2, By = fla) = ¢~
Fxy) —f(x) =e™ —e™ = e (™™ 1)
Wae(—w, +m),e™ >0,vx% <5, <1
e 1 20,0 f(%,) ~flx) =e™(e™ 1) <0



